
www.toptek-co.com info@toptek-co.com 

10 

PART NO 
TRK-6 

PACKAGE 
1000 

3.5 Ø3.5 

27.3 
19.6 4.

63
 

0.
3 

4 
8 

8 

2.
8 

 
◆ MATERIAL:STAINLESS-430 
◆ UNIT:㎜ 

PART NO 
TRK-8 

PACKAGE 
500 

PART NO 
TRK-9 

PACKAGE 
500 

Ø3.2 

30.7 

2 2.
6 

8.
2 

30.7 

2 
2.

6 

M3X0.5P 

8.
2 

◆ MATERIAL:STEEL 
◆ UNIT:㎜ 

24.2 

TAPPED: T 

6 
1.6

 
5.5

 

  6.3   
18 

PART NO 
M3X0.5P 

T PACKAGE 

1000 M4X0.8P  
6-32 UNC 

TRK-10(M4)  
TRK-10(632) 

   TRK-10 

◆ MATERIAL:STEEL 
◆ UNIT:㎜ 

PART NO 
TRK-1 

PACKAGE 
250 

PART NO 
TRK-2 

PACKAGE 
250 

12
 

M3X0.5P 

6 
1.

6 
6.

5 

26 
17.6 

 
◆ MATERIAL:ZINC PLATED STEEL 
◆ UNIT:㎜ 

     5 Ø3.2      5 

12
 

6 

26 
17.6 

1.
6 

6.
5 

     POWER TRANSISTOR CLAMP DEPRESSOR 

     POWER TRANSISTOR CLAMP DEPRESSOR 

     POWER TRANSISTOR CLAMP DEPRESSOR 

     POWER TRANSISTOR CLAMP DEPRESSOR 


